1.1 Applications of Equations
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Fixed cost is the sum of all costs that are independent of the level of pro-

duction, such as rent, insurance, and so on. This cost must be paid whether or not
output is produced. Variable cost is the sum of all costs that are dependent on the
level of output, such as labor and material. Total cost is the sum of variable cost and
fixed cost: o

P total cost = variable cost + fixed cost
o\ )
Total revenue is the money that the manufacturer receives for selling the output:
ANJ\V N gt e 2D e
total revenue = (price per unit) (number of units sold)

Profit is total revenue minus total cost:

profit = total revenue — total cost

FIXED COSTS VARIABLE COSTS
Fixed costs remain the Variable costs change
same regardless of sales. based on your sales activity.
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Fixed Costs vs. Variable Costs b
Fixed Costs Variable Costs \
The costs associated with The costs directly related
your business’ product that to the sales volume of
must be paid regardless your business
of how much you sell
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Q 9: A corn refining company produces corn gluten cattle feed at a variable cost of $S82 per ton. If
fixed costs are $120,000 per month and the fee

c{eEfor $134 per ton, how many tons must be sold
each month for the company to have a monthly profit of $560,000?
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Q 10. The pear-shaped Corporation would like to know the total sales units that are required for the

company to earn a profit of $1,500,000. The following data are available: unit selling price of $550,

variable cost per unit of $250, total fixed cost of $5,000,000. From these data, determine the required
sales units.
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Q 21. (in Arab edition Q# 19) A manufacturer of video games sells each copy for $21.95. The
manufacturing cost of each copy for $14.92. Monthly fixed costs are $8500. During the first month of
sales of a new game, how many copies must be sold in order for the manufacturero break even?
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